FF105ERB &Y Fug(G )P

% . R
z\'
r-
. B

(=) FHEF YRR T B ESE e RS

TRV ¥

FRFRRFLESEFY R

w104 & 20 250 2 RFEWF % 10400142684 5L > 314 3 &7
BB o 105 &R L 3 E R o

K?}

KRR B LY b HL P LA BB KL LD E g\ o
(Z) e P P im ey § iR
B oppm g o
(=) A F 8  KTyFTEAE Fay ¥
(Z) 278 FRFHY S (2 4Y 5- 359 §)
(Z) B 2§23 22 AR BRI FEREFTHR
TP R
L S g i 2B ERR(F ) R ~F22D ~BEAR(F )
%ﬁ\%z\ $F’H/_m ~ 3 ,J_miéf*’ eI \rgn‘y']%kg :;‘/”F'ié’
?/IFFF o
2. FY AL ,:ngg ~VPhysics Python *t % ® $»3m + 2 e * o
3. BiEFF I 2P EHERE (R4 8 - FH28 1)
4, FyYpghrFaed >z A7 Hr 8303 7%k 3
5. Y FALPFF £
105# 5% 26 p (&Hpe)

o Y OE R igEL | g
08:40~08:55 3R 7 Fpd
08:55~09:00 B3R BN &
09:00~10:30 RN EEEANY e s
10:30-10:40 A PR
10:40~12:10 | VPhysics Python *™ 432 F 2 g% FHE
12:10~12:30 e PR R

12 : 30~ W




B 22 AFAFEFERETR (F20 24 BaapE 11025)

SRR
Loty P2 (L) BER  A7E CREFY HE T2 S
Bl £R Y 2 ¥ A /‘aﬂizz»ﬁﬁr’ag(ﬁ%*)'l#ﬁ?aé R -
2. FY BTG RKER S S FREFES > SR kTR IR RS
EAx e
3. Arfe i L= AR

R = R Z B RER

i

EEEEAR E EENL (R14-1 SRITT)
NERIAE TR =R

INEL

K B Ih (TS ~ 121h) © 301.24
FEEDKEL ¢ 91

FAE
Fr i R = K= =
TREBRES

], ¥ Kﬁ-i‘i‘] ;f{%_ﬁf ,?%‘E‘E-fé—%_‘ W&Lﬁ]ﬂ Lo



